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SUBJECT - MATHEMATICS

TON A (Tmark each)
LIn the equation x + 2y = 10, if the value of x is 2, find the

value of y.

2.Whatiis the value of cot’A - cosec’A

3£ p(x) = 33"~ 6x + 3, find the sum and product of the
zeroes. Form a polynomial having sum and product as
30 +2f and 20+ 3p.

4.Write the condition to be satisfied by q so that a
rational number has a terminating
decimal expansion

of the corresponding sides of two si
2 then what is the ratio of their

60n comparing the ratios ay/aa, by/by and ¢i/cs, find out
whether 3x + 2y = 5: 2x - 3y = 7 are consistent or

incon:
ECTION BRmarks,

6.In A OPQ, right-angled at P, OP = 7 cm and 0Q - PQ = 1 cm.

Determine the values of sin Q & cos Q.
7.S0lve TXopIV_g

o w
8.solve for xand y: 2av+3by =2+ 2b 3ax - 2a - b-2by

9. Find the HCF of 6930 and 8085 by using
fundamental theorem of arithmeti

10. If the ratio of the corresponding sides of two similar
triangles is 2 1 3, then what is the ratio of their
corresponding height ?

TLIfsecO + 1 0+ 1/ sec’

e =15, then find the

12.If A, B arc acute angles and sinA= cosB, then find the
value of A+B.

13.Prove that = Cos1’A cos2" cos3'.

~cos180" =

SECTION C(3marks each)

14 Divide 8x’+ 8x' 127+ 20x - 30 by 3x -5 +

and verify division algorithm.

15 A motor boat can travel 36 km upstream and 40

Kkm downstream in 5% hours. If the speed of the stream
is 2 km per hour, find the speed of the boat in still
water.

16.Prove that 7-2y/3 is an irrational number.
17.What s the value of tang in terms of sino.

187

ve that

(sec A - cos 4)

(coseed ~sin

tan 4+ cot 4
19.Evaluate w
tant1’. tan31". tan60'. tan59". tan79’ +

0sec70" - 2

hout using trigonometric tables:
tanzs®

Corse*
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